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3.1
3.2
3.3

B? Spice

5.1
5.2

6.1
6.1.1
6.1.2
6.1.3
6.1.4

6.2
6.2.1
6.2.2
6.2.3

6.3

7.1
7.1.1
7.1.2

7.2
7.2.1
71.2.2

PCBE

NPN
PNP

13

14
14
14
15
16

21
21
25
27
30

31
31
32
34
34
35



7.2.3
7124
7.2.5
7.2.6

7.3

7.4

7.5

36
36
37
37
38
39
51



IC

LSI

B? Spice

PCBE

THD S/N






3.1

IC LSI
IC LSI
IC LSI
3.2
‘" FET 2
PNP NPN

2SA PNP
2SB 0 e PNP
2SC e NPN
2SD 0 e NPN

3-1 3-2

3-1 2SA1015 3-2 25B834
2SC1815

2SD880



3.3

PNP

PNP

NPN

NPN

PNP

NPN

NPN

PNP



B?Spice

B°Spice B Beige Bag Software
B? SPICE

B?Spice

(AC) DC

(AC)

DC



5.1

5-2

5.2

5-3






FeCl H O

15
40 43

5-5

10



5-6

5-6

0.8mm

5-7

5-7

11



5-9,10

5-9,10

12



5.2 PCBE

PCBE
PCBE
NC
CAD
OHP
511 PCBE OHP

5-11

13



6.1

6.1.1
6-1
|H;U
(@)
Cl
g
SR 153
Trl
=
LED
6.1.2
C, C,

Bl b
QELCI% 019
‘ Tr2

|
aE 1

Tr; Q2sc18150 Tr, Q2scl1815
Tr, - VCe eay
Vbe, Tr, Ib,

14



Ib,=(Vce  Vbe,) [ Rgmmmmmmm e oo e (6-1)
Tr, Tr, Ic,
o A o I B (6-2)
Tr,
I, >=lc,/hg,
o P I e [ - e —---------(6-3)
w» @ 6
he.(Vce  Vbe,) /Ry >= (Vec  Veey ) | Rymm--mmmmmmmmmmme- (6-4)
Vbe,~=Vce,y~=0.6[V]
N,/ R >=1/R;
R, >= Ry [ Npgqmmmmmm e s s e e (6-5)
Tr2
R, >= R, [Ny m e (6-6)
6 (6
6.1.3
6-1 C, C,
C, C, Try Tr,

15



6-1 Tr, C,
Tr,
C, Vce R,
Tr,
Vbe Tr, Tr,
6.1.4
C, C,
C.R, C,R,
R, C, Tr,
6-2
I
Py
R
+Q 1 -Q <
| o @ 3
7 / 7 I
N
Vce(sat) Vbe
AN NI/
6-2
C, Vce Vbe,
Tr,
Vce R,
QIC]

16



Vcel(sat) Q / Cl+ I R2 = VCC ---------------------------------------- (6_7)

(6-8) (6-7)

Veeyy Q/C, R,AQ/dt =VeC--mmmmmmmmmmmmmmmm e (6-9)
Q/C+RAQ/dt = (VcC VCeyyy)------n=m==m==mm==mn=- (6-10)
(6-10) (6-10) 0 Qt
Qs= CyVec Veeygay)---------- ---(6-11)
Q = QU QS mmmm e mm e (6-12)
Qt
QUC,+R,AQUAE =0-nmmmmmmmmmmmmmmmmmmmmee e (6-13)
dQUdt =  QUC Rym-m-mmmmmmmmemmmemee oo (6-14)
010 70 L S 7/ @ (6-15)
[ 0] 70 A 1 O = N [ | — (6-16)

17



loge Qt= t/C,R,+C (C S — (6-17)

Qt=e YOI @l (6-18)
erC=A

Qt=A e VO R e (6-19)

6-11)  (6-19)  (6-12)
Q=Ae Y% C(VCC Ve qy)-----=mmmmmmmmmmmmmmmmmmmnees (6-20)
C, Vc

Vc=QIC,=AIC, e Y'** (Vcc Vceeye)

= K e UC1R2 (VCC Vcel(sat)) ----------------------- (6-2 )

K
t=0 Vc=Vcc Vbe,

Vee Vbe,=K (Vcc Veeqy)
K=2Vce Veejgy VDEyrmmmmmmmmmmmmmmmmmmmmmmmooooocooooeeooo (6-22)
(6-22) (6-21)

— t/C1R2
Ve = (ZVCC Vcel(sat) VbeZ) € (VCC Vcel(sat))

Tr2 Vpe2

18



VbeZ = VC+Vce(sat)

= (2VeC VCeigy Vieo) € R VEC-mmmmmmmmmmomeeeaae (6-24)
(sat)
Vbe2
6-1
C, Vies 0.6V
(Vbez0) Tr, Tr, Ve

(Vce2 = VceZ(sat))

Multi(npn)-Transient-0 Time (s)
V) +0.000e+000 +500.000m +1.000 +1.500 +2.000 +2.500 +3.000
+3.000 ( | ¢ { g
]
+2.000 //
/
+1.000 ) ] AT T
- /
+0.000e+000 \l\
-1.000
-2.000
B V(VCE2) +—\V(IVCEL)
6-1
Tr, T, (6-24) Viez = Vieao
Viero = (2VCC Vieiay  Voero) € TeR21Vee

/ _
(2VeC  Vieisay Viex) € THEIRZ ZVEC Vipego

19



e THCIR=(\/ee  V,.,0) ! (2VCC Viersay  Vbe2o)

T,/CiR,=loge ((VCC  Vier) / (2VCC Viersary  Viezo))

T,=CiR;10ge((2VeC  Vieyeay Viezo) / (VCC Vipepp))----------

VCC>>Vbe20 VCC>>Vcel(sat)

T,~=C,R, loge2

= 0.693C,R,
~= 0.7C,Ryermmrmmrmermememmenennen
Tr2 T2
T, ~= 0.7C,Ry---- -- -
T
T=T+T,

0.7C,R,+ 0.7C,R,

O.7(C1R2 + C2R3) - -

--(6-27)

Cc,=C,=C R,=R3=R (6-28)

6.2

20

---(6-28)



2 NPN PNP
NPN ‘ ‘ 3 3
6.2.1 NPN
6.1 6-1 2SC1815 NPN
NPN
3 [V]
2SC1815
T = 1 [sec]
3[V]
3[V] 3[V]
‘ LED 2 [V]
6-1 LED R, R,
LED 6-3

3
% | |8

— b= = o
Q25c18150 £25c1815 '
betfjll .019 ga— 192.019 ‘
= = =

6-3 NPN
R, R, 3[V] 20 [MA]

21



R=3/20x 10 *

=150[Q]

6-1 6-3 R; R, 50[Q] “ LED

20 [MA] :

LED =2/20x 10 *

= 100 [Q]

R, R, (6-5)
R(150Q)>=R,/h,
R; <= Rx hy,
=150 x 192
= 28.8 [kQ]

E 24 27 [KQ]
T=1[S] (6-29)

T =1.4CR
C=T/14R

= 1/(1.4x 27x 10°)
= 26.46 [y F]

33 [ F]
6-1 2

22

2 [V]



6-1 NPN LED

6-2 LED
6-3 6-3
f=1T
=1 [Hz]
0.033[u F]
1000 1 1000
6-2 0.9[ms]
1.2[ms]
OFF ON
0.5[V]

23



Multi(npn)-Transient-2 Time (s)
) +0.000e+000 +1.000m +2.000m +3000m +4,000m

-

+3.000

+2.000

. | |

—\V(VB) B-\/(IVC)

6-2 NPN

6-3 NPN

24



6.2.2 PNP

NPN
PNP
PNP

3V

2SA1015

1 [sec]

PNP NPN
PNP
6-4 PNP

|
e +
cfazlg 2583 51828

4%-62%——————

6-4 PNP

6-1

NPN
LED NPN R1 R2

25



NPN ON
2.4V PNP
6-4 5

6-4 PNP LED
6-5 LED

Multi(pnp)-Transient-1 Time (s)
V) +0.000e+000 +500.000m +1.000 +1.500 +2.000 +2.500 +3.000

- | \ \
N R DN

+3.000 \ \: \\V \’
+2.000 ! ] —
+1.000

+0.000e+000 |-+ = = L

¥—\/(IVC) &=\/(vB)

6-3 PNP

26



.,C,=0.033u F

6.3.3
3

1000 1

3[V]
2SC1815
50[ms]

6-4

NPN

27



- L i
-
Beths 18301 Beg 193 019 i
}—p?| |— H1Ve
5’5 5 |
[ ’
- =
6-5
Multi(E-Bias)-Transient-3 Time  (s)
W +250.000m +300.000m +350.000m +400.000n
+2.000 / / ( / /
+0.000€+000 ‘—_/ﬁﬂ_—'/f—‘ - /P ———/]f I
Y—\V(IVB) &=\/(IVC)
6-4
40[mS] 50[mS]

28



6-8

29



6.3

NPN

PNP

30



7.1

7.1.1

7-1

7-1

100[W]

31

IC



7.1.2

7-2

. N
I B
oL or o Lo
_L<</7_I\_v_||_w_l_}>>|_

NTERERSTH

> >

T N
| =] F
I

L

(©)

(b)

(@)

7-2

Tr,

Tr,

(@)

VBE

(b)

VBE

2.5mV/

Tr, Tr,
Tr, Tr,

Ve > Ve

VB E

Tr, Ve Vg

Tr,

32



Tr, Tr, —GND
VF VBE
(c) (b) Ve Vg
Ve Ve /' R
(b)
R
Z,
Z,=10[Q]
7-3
|
Tr2
Raz 11 R
Rb Tr3 Tr,
- R R, Rg i Tr,
VBEl
I - VBE1/RB """"""""" (7‘1)
7-3
Tr, Vg =TR, TR,

33



Ve=R, 1+Rg i
= (R, + Rg)i--m—mmmmmmmmmm e (7-2)
(7-1)  (7-2)
Vg =(Ra*+Rg)/ Ry Vggymmmmmmmmmmmmmmmmommeeees (7-3)
R, Reg Ve Vi
Tr, Tr, Ve
Ra=Rg Vg =2Vge
3 Tr
7.2
B
10 20dB
0.5 [W]
20[Hz] 20 [kHZz]
7-4
7.2.1
0.5[W]
Vo=V Po Z

34



= v 05x 8

= 2 [Vrms]

5.7[V] ~=2Vrmsx Vv 2x 2

Vce = 9[V] 9[V]
15[V]
4
= S ianta
S
Q25d880 _I_ JT_
T

‘ ~|:: beta= 1

_/\N(}V?
SO
N
he o
S
o
c
=
§5
TR
Q

__|
L
i
i3
T

g Tr, ‘ +HI\Vm
I L T L
et
o ?ELaC: 192019 Tr,
c‘b“%%u ™
| 2 ik
| A
= = = = =
7-4 B
71.2.2
0.5[W] 2[Vrms]
2.8[V] 350[mA] 2.8[V]/8[Q]
( )

35



hFE
3.5[mA]
Tr,
GND 75[Q ]
7.2.3
Tr, 5[V]
5[V] R,
R, =4[V]/20[mA]
= 200[Q ]
R, R, R,=10[Q] R,=62[Q]
Av=R,/R,
= 200 / 10
=20 (~=26dB)
C, Ry
2200[u F] Rs Ry
2.1[V] Rs R,
R,=15[kQ] R¢=5.6[kQ]
7.2.4
7-4

36

100

20[mMA]

1.5[V]

4[v]

R

1.5[V]
0.5[mA]

Tr,



Tr, 7-4 Q2SC1815

20[mA]
1.2[V]
2SC1815
Tr, R, 300[Q ]
2[mA] =0.6[V]/300[Q]
Tr, 2Vge (7-3) Ri=R,
RVR2 =500[Q]
0 500[Q] 300[Q ]
7.2.5
9[V] Tr, 5[V]
Tr,
4[V]
8[Q] 500[mA]( =4[V]/8[Q])
Try; Tr,
2.83[Vrms](4[V]/
vV 2) 1[W](2.83° [V]/ 8[Q]) Tr, Tr, Pc
1/5 0.2[wW]
* 25B834°
* 25D880"
7.2.6
Tr; Tr, R, Rg Tr;  Tr, Vge
0.5[Q]
1[Q]
C,
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7.3

38



7-3

7.4

THD
S/N

IC 380

THD S/IN

39

386

7-4,5,6,7



A 200ps CH2 +AC 0.01 V? HO: ox
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11.97 10
7-6 77

4.5[V]

-0.01 Vv? HO:

7-6

IN,,,=0.427[V] OUT,,,=4.80[V]

Vpp Vpp

7-7
=0.536[V] OUT

IN =5.34[V]

Vpp Vpp

41



[V] [W] |THDI[%] S/N[dB]

[mV]
10.000 0.13170 0.0 0.3500 56.1
2.0000 0.25410 0.01 0.5400 60.4
30.648 0.39800 0.02 0.5700 65.6
40.080 0.52010 0.03 0.4800 66.0
49.340 0.65360 0.05 0.4000 69.0
60.750 0.79950 0.08 1.450 70.3
70.060 0.91010 0.10 2.920 73.0
80.270 1.0362 0.13 4.380 74.0
90.000 1.1540 0.17 5.690 75.0
100.70 1.2901 0.21 7.190 75.0
109.44 1.3851 0.24 7.930 76.4
120.01 1.5085 0.28 8.850 76.7
130.38 1.6191 0.33 9.610 78.0
140.41 1.7212 0.37 10.27 78.0
150.540 1.8197 0.41 10.86 78.0

7-1 B

12 ( 11.97

3[dB]
7-1 THD 49.34[mV]
7-2 13[Hz]
110[kHZz]
11.3[Hz] 320[kHZz]
[Hz] [dB]
5.00 -11.2
7.00 -7.30

42



10.0 -4.40
11.0 -3.80
12.0 -3.30
13.0 -2.90
14.0 -2.60
15.0 -2.30
20.0 -1.50
30.0 -0.700
40.0 -0.300
50.0 -0.200
100 -0.100
500 0.00
1.00K 0.00
10.0K 0.00
50.0K -0.300
80.0k -0.800
100k -1.10
110k -1.30
7-2
0[dB] 21.56[dB] 11.97
THD
SIN
THD
5
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#[dB]

&

12

22

20

18

16

14

12

10

7 -

1

o
=

N

10

HOTEELV]

1.5

0.5

100

1000 10

[H

10°

10°

20

40

60
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80

100

120

140



1.5

0.5

//

\

75
70

[aPIN/S

65

60

1

0.5

45



| —e—wopa |

12 T T T T T T

10 i ‘@/,

4

2 /

(0] . ar . . .

-0.1 0 0.1 0.2 0.3 0.4 0.5

380
20
7-3 380
[mV] V] [W] | THD[%] S/N[dB]

9.9750 0.18590 0.0 0.06660 32.1
20.000 0.36950 0.020 0.04520 38.2
30.197 0.55710 0.040 0.03880 41.6
40.140 0.73990 0.070 0.09480 44.3
50.480 0.92700 0.11 0.1548 46.2
60.190 1.0970 0.15 0.1449 47.6
70.200 1.2782 0.20 0.1295 48.8
80.490 1.4714 0.27 0.1796 50.1
90.000 1.6492 0.34 0.2071 51.1
99.770 1.8297 0.42 0.2422 52.0
109.45 2.0217 0.51 0.6471 52.8
119.46 2.1392 0.57 3.976 53.3
129.58 2.2197 0.62 7.332 53.5
140.45 2.2856 0.65 10.45 53.7
150.52 2.3359 0.68 12.96 54.1
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HAEEN]

THDL%]

14

12

10

160

a7

T+
//
4
20 60 80 100 r120 140
/-7 3 80
| —o— ol |
% [
; |
; /
; /
; |
| /



S/NLdB]

THO[%]

50

45

40

35

: o :
- //z{
-9 380
:
L N
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386 380
20
[mV] [V] [W] | THD[%] SIN[dB]
10.000 0.21330 0.0100 1.460 40.2
19.980 0.42050 0.020 1.149 46.7
30.170 0.63550 0.050 1.041 50.2
40.110 0.82680 0.090 0.9989 53.0
50.430 1.0381 0.13 0.9541 54.4
60.110 1.2246 0.19 0.9113 55.2
69.930 1.4200 0.25 0.8546 57.0
80.410 1.6236 0.33 0.7917 58.1
89.910 1.8185 041 0.7220 59.0
100.94 2.0484 0.52 0.6551 60.5
110.62 2.2299 0.62 1.384 61.0
119.32 2.3309 0.68 4.344 61.3
129.43 2.4123 0.73 7.819 61.7
140.29 24771 0.77 11.39 62.1
150.37 2.5256 0.80 13.83 62.3
7-4 386
7-10 3 8 6
3 N — —
2.5 f
IH C
fi C
= 1.5 |
H - /
1 [ ﬂ/
aby
0 :I 1 1 1 1 1 1 1 1 1 1 1 1
0 20 40 60 80 100 120 140 160
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THD ]

S/N[dB]

65 T 1T T 1T T 1T T 1T T 1T T 1T

=

40 L

7-12 386

]

60

55

50

45

50



7.5

THD %]

S/N

14 —
12 F

10 |

/-13 3 8 6

0 0.2

0.4 0.6

51

0.8

THD

386

IC
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PNP

NPN



MicroCap5/CQ

MicroCap5/CQ

MicroCap5/CQ

MicroCap5/CQ
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CcQ

CcQ

CcQ
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A255



